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PART A: Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes the blank, Then
mark the correct choice on your answer sheet.

1- By signing these papers, | agree to not -———-- any of my company’s financial records to
anyone outside of my firm.
1} authorize 2 articulate 3) divulge 4) victimize

2-  Without an antidote to treat the patient, the poisonous snakebite would prove —-----,
1} vulnerable 2 fatal 3) massive 4) extreme

3-  Stifling a yawn, Jackie covered her mouth as she listened to one of her mother’s —-——-
stories about her childhood.

1) interminable 2) credible 3) widespread 4) literal

4-  After learning the lawyer accepted a bribe, the committee decided to —-- him and
suspend his license.
1) encounter 2) retaliate 3) underestimate 4) rebuke

5-  The government will —-—-- any property that has been purchased with money earned
through illegal means.
1) resist 2) seize 3) eliminate 4) avond

6-  Now that I have got another offer of employment, which sounds as good as the earlier
one, | am in a —-——-- as to which one to choose.
1} necessity 2) comparison 3) postponement 4) dilemma

7-  Since there is a huge ---——- between the results of the first and second experiment, the
laboratory team will conduct a third test.
1) discrepancy 2) autonomy 3 ) randomness 4) opposition

8 To get a good grade on the research project, you must -———-- vour report with provable
facts.
1} inform 2) outline 3) substantiate 4) interfere

9-  We thought that the power cuts were temporary and would end but we have now
realized that this is a ——---——- problem and will never end.
1) chaotic 2) perennial 3) fragile 4) memorable

10- Ifa-—--—- - answer can provide the information requested, there is no reason to bore a
person with a long response,
1) boundless 2) conceptual 3) concise 4) logical

PART B: Cloze Passage

Directions: Read the following passage and decide which choice (1), (2), (3}, or (4) best fits
each space. Then mark the correct choice on your answer sheet.

It 15 very easy to lead someone’s memory astray. For example. 1f | witness a trathe
accident and (11} ———-—-- whether the car stopped before or after the tree, | am much
more likely to “insert” a tree into my memory of the scene, (12) - — Nno tree was
actually present. This occurrence reflects the fact that when we retrieve a memory, we
also re-encode it and during that process it 15 (13) ————-- errors.
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Elizabeth Loftus at the University of California, Irvine, and colleagues have shown
that this “misinformation effect” can have huge mmplications for the court room, with
experiments (14) ——-—- that eyewitness testimonies can be adversely influenced by
misleading questioming. Fortunately, these findings also suggest ways for police,
lawyers and judges to frame the questions (15) ===-m-- -- they ask in a way that makes
reliable answers more likely.

11- 1)1 am later asked  2) later asking 3) to be asked later  4) later asked
i2- 1) even then 2) 50 even j)asiteven 4)evenif
13- 1) a possibility implanting 2) possible to implant
3) possibly to implant 4) possibility of implanting
14- 1) are repeatedly demonstrated 2) repeatedly demonstrating
3) that are demonstrated repeatedly 4) to demonstrate repeatedly
15- 1) that 2) when 3) because 4) even though

PART C: Reading Comprehension:

Directions: Read the following three passages and answer the questions by choosing the best
chaeice (1), (2). (3). or (4). Then mark the correct choice on your answer sheet

PASSAGE 1:

In January 1998 Panama’s legislature privatised the state-owned Panama Railroad,
awarding a 25-year lease to the U.S. companies, Kansas City Southern Railway and
Mi-Jack Products. The rebuilt railroad is being used to provide landbridge service for
containers that arrive (on either coast) in Panama on post-Panamax ships (i.e., ships
too large to go through the Panama Canal). In addition. rail landbridging networks are
found in Malaysia and Saudi Arabia. Also. Nicaragua 1s considermng providing a
landbridge network to compete with the Panama Canal and a Eurasia landbridee is
bemg planned that would rail cargo to and from Rotterdam wvia China and Russia,
linking Asia and Europe.

Besides stmulating the growth in the Ports of Los Angeles and Long Beach, rail
landbridging has also led to significant increases in highway congestion in these port
cities. Congestion arises when highway traffic has to stop at rail crossings for trains
entering and departing these ports. The problem of highway congestion was addressed
by constructing the $2.4 billion Alameda Corrnidor — a high-capacity intermodal rail
grade-separated (trench) corridor that consolidated more than 90 miles of rail
operations into one 20-mile cormdor, linking the Ports of Los Angeles and Long Beach
and rail lines leading eastwardly. All railroad crossings at street level (200 in number)
along the corridor were eliminated. The corridor was opened in 2002, charging $30 for
each 40-foot equivalent unit (FEL') container that passed through the corridor. In 2002
the average number of trains (of the Umon Pacific and Burlington Northern Santa Fe
railroads) running per day on the Alameda Corridor was thirty-nine, increasing fo
fifty-five by 2006 and declining to forty-nine in 2007 (with a slight decrease in
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container volume due to more containers per train). The Alameda Corridor i3 the
largest intermodal construction project in U.S. history.

Another negative of double-stack train landbridging may be the need to
accommodate the height requirements of double-stack rail cars. That 1s to say. rail
tunnels may not be high enough for double-stack trains to go through. If so, these
tunnels must be heightened if they are needed for the provision of more direct double-
stack train services (for lowering transportation ftimes and costs) to certain
destinations. On the U5, East Coast. Norfolk Southern railroad 15 involved in the
“Heartland Comdor” project for which mountain railway tunnels in the state of West
Virginia are being heightened in order for double-stack trains from the Port of Virgimia
to be able to cut off significant distances in transporting containers to Chicago. A
similar project, named the “Crescent Corridor.” is also underway that invelves the
heightening of rail tunnels for more direct service by double-stack trains from the Port
of New York-New Jersey to Memphis, Tennessee.

16- Why were railroad crossings at sirect level along Alameda Corridor eliminated?

1) To link the ports 2) To avoid highway traffic

3) To allow trains entering the ports 4) To allow trains to leave the ports
17- Which landbridging network will possibly eliminate the Panama Canal passage?

1} Eurasia landbridge 2) Malaysia landbridge

3) Nicaragua landbridge 4) Saudi Arabia landbridge

18- Where is the Norfolk Southern railroad located?
1} In port of Memphis
2) In port of New York, New Jersey
3) Between Port of Virginia and Chicago
4) Between Port of New York to Memphis
19- What is the role of Kansas City Southern Railway?
1) It 15 a complementary company to Mi-Jack Products.
2} It is private sector that leased the Panama Railroad.
3) It 1s a state-owned Panama Railroad.
4) It is a 25-year-old US company.
20-  Which port cities have been mainly afTected by rail landbridging in terms of traffic?
1) Rotterdam and Long Beach
2) Rotterdam and Los Angeles
3) Long Beach and Los Angeles
4) Rotterdam, Los Angeles and Long Beach

PASSAGE 2:

An operating option of a port operator (similar to that of a carrier) is the means by
which the port operator can differentiate the quality of its port service. Operating
options that are used by carmriers to differentiate their service include speed of
movement, frequency of service, reliability of service, spatial accessibility, and
susceptibility of cargo to loss or damage and passengers to fatal or nonfatal injuries.
The port operator has similar operating options with which to differentiate the quality
of its service.

Operating options of a port operator that are analogous to a carmier’s speed of
movement are port vehicle loading and unloading service rates. If the vehicle is a ship,
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the port ship loading service rate is the amount of cargo (e.g.. tons and TEUs) loaded
on to a ship per hour of loading time; the port ship unloading service rate is the amount
of cargo unloaded from a ship per hour of unloading time. There are similar operating,
options whether the vehicle is a truck, rail car, or barge. The greater these service
rates, the higher the quality of service provided by the port operator.

A port operator operating option that is similar to a carrier’s frequency of service is
port vehicle turn-around time (i.e., the difference between departure and arrival times
for a port vehicle). For instance, how long does it take the port to turn around a ship,
truck, rail car, or barge once it enters the port? Port vehicle turn-around time 1s
analogous to headway time for an urban transit vehicle, ie., headway time is the
reciprocal of frequency of service on a scheduled transit route. For example, if a transit
vehicle arrives every 20 minutes at a stop on a transit route, the headway time of
transit vehicles arriving at the stop is 20 minutes, but the reciprocal of 20 minutes is
the frequency of service at the stop or three transit vehicles every hour. The lower the
port vehicle turn-around time, the higher the quality of service provided by the port
operator.

Port operator operating options that are analogous to carrier reliability of service
are port channel reliability and port berth reliability. The former may be measured as
the percent of time that the port’s channel is open to navigation for a given period of
time, the latter as the percent of time that the port’s berth 1s open to the berthing of
ships. Port reliability operating options with respect to gates include entrance gate
reliability and departure gate reliability. The former may be measured as the percent of
time that the port’s entrance gate 15 open for vehicles for a given time period, the latter
the percent of time that the port’s departure gate 18 open for vehicles for a given time
period. The greater these percentages, the higher the quality of service provided by the
port operator.

21-  What is a similar operating option of a port operator to a carrier’s reliability?

1) Port higher quality 2) Port transit quality
3) Port service quality 4) Port channel and berth reliability
22-  The shorter the ship's time in port, the better ——-----—-- —
1) the service quality of port 2) the relhiability of service
3) the transit vehicle 4) the port operator
23- What is a similar operating option of a port operator to a carrier’s frequency of service?
1) Ship’s time in port 2) Ship’s loading time
3) Ship’s time of arrival 4) Ship’s time of departure
24- What does headway time refer to?
1} Urban transit vehicle 2) Scheduled transit route
3) Frequency of service 4) Opposite to frequency of service
25-  What is a similar operating option of a port operator to a carrier’s speed of movement?
1) Service sustainability 2) Speed of services
3) Ship unloading 4) Ship loading
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PASSAGE 3;

It is common practice for vessels while in port to take on and discharge water in
order to ballast the vessels. When cargo is removed. the ballast water may be pumped
mto specially designed (or cargo) tanks to compensate for the variance in cargo
weight distributions. When cargo is loaded, the ballast water is released. Ships
worldwide transfer 3 to 5 billion tons of ballast water each year.

When ballast water is taken in by vessels, microscopic organisms and the larval
stages of larger organisms indigenous to the region can be taken in as well. These
organisms are then transported to other regions (beyond their natural habitat). where
they are released with the discharge of ballast water. The discharged aquatic life may
then thrive and disrupt the local ecological system. When there are no natural
predators, the non-indigenous aquatic life may alter or destroy the natural marine
ecosystem.

The black-stripped mussel was transported in ballast water from South America to
Australia. The mussel was a threat to the Australian pearl industry, but early
discovery enabled the government to take action to limit its impact at a cost of §2
million. The comb jelly that was transported in ballast water from the United States
to the Black and Azov Seas almost wiped out the local anchovy fisheries. The Asian
strain of cholera bacterium was likely introduced into Latin American waters through
the discharge of ballast water. Invasive species can also cause property damage. The
European zebra mussel was introduced via vessel ballast water into the Great Lakes
in the mid-1980s, causing $5 billion in damage to water pipes, boat hulls, and other
surfaces in the Great Lakes.

One solution for greatly reducing the discharge of ballast-water nonindigenous
aquatic life in port harbours is vessel mid-ocean ballast water exchange, Ballast water
taken onboard when vessels are in ocean water depths of 6,600 feet or greater 1s
expected to be mnearly free of invasive species. However, the avoidance of
nonindigenous species 1s not expected to be 100 percent, since all of the ballast water
is not replaced. The International Maritime Organisation (IMO) has promoted mid-
ocean ballast exchange as the best short-term solution for avoiding the discharge of
ballast-water nonindigenous species. The exchange process. however, is time-
consuming (taking at least 48 hours) and can cost up to $25.000 for a large vessel
that utilises its crew for close monitoring. If performed by all ocean vessels calling at
UL.5. ports, the expected annual cost 15 551 million. A benefit to the vessel owner 1s
that the exchange is done while the vessel i1s underway, Long-term solutions for
avoiding the discharge of ballast-water nonindigenous species in port harbours are
likely to be treatment inmovations that remove or kill non-indigenous species found
in ballast waters.

26- What is the best long-term solution to stop nonindigenous species in ports?
1) To load ballast-water in harbours
2) To discharge ballast-water in harbours
3) To exchange ballast-water in mid-ocean
4) Treatment innovations to kill unwanted species
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27-  Why do ships load and unload ballast water?

1) To stabilise the ship 2) To go to a port

3) To leave a port 4) To pump cargo

28-  What has caused $2 million for the government?
1) Australian government'’s threat to Australian pearl industry
2) South Amenican government's threat to Australian pearl industry
3) South American government's transport of black-stripped mussels to the Australia
4) Australian government to limit the threat of black-stripped mussels to the Australian
pear! industry
29- How can the threat of nonindigenous aguatic life be stopped in short-term?
1) By loading ballast-water in ports
2) By loading ballast-water in harbours
3) By discharging ballast-water in harbours
4) By exchanging ballast-water in mid-ocean
30- What is anchovy?
1) A wild life threat  2) A fish species 3) A mussel fish 4) A jelly fish
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